

# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
(WOIIII, Day, Year)	Subject (By Event)		Cost
April 25 & 26, 2023	Name of Event	25th FPT Ministers Responsible for Seniors Forum Meeting	
	Location of Event	Toronto, ON	
	Air Destination - (From-To-Return)	Halifax - Toronto	
	Air Fare Including All Taxes		\$ 1,311.74
	Name of Hotel & Location	Hilton Toronto Airport Hotel & Suites	
	Hotel Rate Per Night x Number of Nights	\$179/night x 1	\$ 179.00
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch & dinner per diem	\$ 35.00
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 1,525.74



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Datas Da Franci				
Dates By Event	0.1: (/0.5.0)		_	
(Month, Day, Year)	Subject (By Event)	Information	C	cost
May 7, 2023	Name of Event	Ceremony Commemorating the Battle		
		of the Atlantic		
	Location of Event	Point Pleasant Park		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	36 km	\$	20.77
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			-
		TOTAL PER EVENT	\$	20.77



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dotos By Event				
Dates By Event			2	_
(Month, Day, Year)	Subject (By Event)	Information	(	Cost
May 17, 2023	Name of Event	SLTC Infrastructure announcement		
	Location of Event	Sagewood Continuing Care		
	Location of Event	Community in Hammonds Plains		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	43 km	\$	24.81
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			•
		TOTAL PER EVENT	\$	24.81



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
(MOIIII, Day, Teal)	Subject (By Event)		COSL
May 29, 2023	Name of Event	Seniors Day in Pictou and Pictou West	
	Location of Event	Pictou and Pictou West, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	365 km	\$ 210.61
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 210.61



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	(	Cost
June 17, 2023	Name of Event	Festival of Chariots - 2nd Annual Ratha Yatra		
	Location of Event	HRM		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	31 km	\$	17.89
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	17.89



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 21, 2023	Name of Event	Access and Flow/C3 Tour, Halifax Infirmary	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		\$ 6.00
	Taxi Rate		
	Other Miscellaneous Expenditures		
_		TOTAL PER EVENT	\$ 6.00



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

5 . 5			
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 26, 2023	Name of Event	Caregivers NS AGM	
	Location of Event	HRM	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	48 km	\$ 27.70
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		•
		TOTAL PER EVENT	\$ 27.70



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
, ,			'	CUSI
June 27, 2023	Name of Event	CCA-LPN Pathway Announcement		
	Location of Event	Truro		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	202 km	\$	116.55
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	116.55



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 5th, 2023	Name of Event	New Long-Term Care Facility Announcement	
	Location of Event	Dartmouth	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	26 km	\$ 15.00
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 15.00



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

5 . 5			
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
August 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dotoo By Event				
Dates By Event	0.1: 1/0.5			
(Month, Day, Year)	Subject (By Event)	Information		Cost
September 19, 2023	Name of Event	CORAH announcement		
	Location of Event	Port Hawkesbury		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	548 km	\$	316.20
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures		·	
		TOTAL PER EVENT	\$	331.20



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event						
(Month, Day, Year)	Subject (By Event)	Information		Cost		
September 24, 2023	Name of Event	West NS Regt Change of Colours				
		Parade				
	Location of Event	Grand Pre				
	Air Destination - (From-To-Return)					
	Air Fare Including All Taxes					
	Name of Hotel & Location					
	Hotel Rate Per Night x Number of Nights					
	Hotel Incidentials - (\$5.00 per night)					
	Business Meal(s)					
	Mileage Rate - (\$0.5770)	154 km	\$	88.86		
	Parking Rate					
	Taxi Rate					
	Other Miscellaneous Expenditures					
		TOTAL PER EVENT	\$	88.86		



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	(	Cost
September 29, 2023	Name of Event	Villa Acadienne Opening		
Ocptember 23, 2020	Name of Event	announcement		
	Location of Event	Meteghan		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	592 km	\$	341.58
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	356.58



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
October 3, 2023	Name of Event	Seniors Week Event	
	Location of Event	Shelburne	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	456 km	\$ 263.11
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Bridge Toll	\$ 2.00
		TOTAL PER EVENT	\$ 280.11



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dotos By Event			
Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
October 4, 2023	- · · · · ·	Thank You Reception for Orchid Gala Supporters	
	Location of Event	Dartmouth	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	8 km	\$ 4.62
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Bridge Toll	\$ 1.00
		TOTAL PER EVENT	\$ 5.62



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	Cos	it
October 4, 2023	Name of Event	The ACADA Gala Dinner at DEFSEC 2023		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	23 km	\$ 1	13.27
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	2.00
		TOTAL PER EVENT	\$ 1	15.27



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	Cost
October 16, 2023	Name of Event	Meeting with East Preston Seniors		
0010001 10, 2020	Traine of Event	Group		
	Location of Event	Cherry Brook		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	28 km	\$	16.16
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	16.16



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	<b>- -</b>			
(Month, Day, Year)	Subject (By Event)	Information	С	ost
October 16, 2023	Name of Event	NHNSA - LTC Award of Excellence		
October 16, 2023	Name of Event	Reception and Gala		
	Location of Event	Dartmouth		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	32 km	\$	18.46
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	18.46



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
November 6, 2023	Name of Event	Camp Hill Veterans' Services' Annual Veterans' Week Candelight Ceremony	
	Location of Event	Halifax	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	4 km	\$ 2.31
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 2.31



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

5 ( 5 5 ( )				
Dates By Event	<b>- -</b>		_	
(Month, Day, Year)	Subject (By Event)	Information	С	ost
November 11, 2023	Name of Event	Remembrance Day Event at Sullivan's		
November 11, 2020	radile of Event	Pond		
	Location of Event	Dartmouth		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	20 km	\$	11.54
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	11.54



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	(	Cost
November 12, 2023	Name of Event	Welcoming Remarks at National Cancer Research Meeting		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	30 km	\$	17.31
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	2.00
_		TOTAL PER EVENT	\$	19.31



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

			1	
Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	Cost
November 16, 2023	Name of Event	Remarks at Nourish Nova Scotia10		
11010111501 10, 2020	Name of Event	year anniversary event		
	Location of Event	Dartmouth		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	26 km	\$	15.00
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	15.00



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Subject (Dy Frent)	Information		
(Month, Day, Year)	Subject (By Event)	Information	C	ost
November 25, 2023	Name of Event	Evergreen Event aboard HMCS Sackville - Canadian Naval Memorial Trust		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	32 km	\$	18.46
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	2.00
		TOTAL PER EVENT	\$	20.46



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	0.1: (/D. F. ()	1.6	
(Month, Day, Year)	Subject (By Event)	Information	Cost
December 1, 2023	Name of Event	Parkland at the Gardens - Celebration of Wreaths	
	Location of Event	Halifax	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	32 km	\$ 18.46
	Parking Rate		
	Taxi Rate		_
	Other Miscellaneous Expenditures	Bridge Toll	\$ 2.00
		TOTAL PER EVENT	\$ 20.46



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	Cost
December 1, 2023	Name of Event	Interview with Global News		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	29 km	\$	16.73
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	2.00
		TOTAL PER EVENT	\$	18.73



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
December 5, 2023	Name of Event	SLTC Announcement in Annapolis Royal Nursing Home	-
	Location of Event	Annapolis Royal	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	420 km	\$ 242.34
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 257.34



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
December 11. 2023	Name of Event	Visit to the Halifax and Region Military Family Resource Centre	
	Location of Event	Shearwater	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	8 km	\$ 4.62
	Parking Rate		
	Taxi Rate		•
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 4.62



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
December 15, 2023	Name of Event	Roger Bacon Nursing Home Groundbreaking	
	Location of Event	,Amherst	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	404 km	\$ 233.11
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 248.11



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
_	Subject (By Event)	Information	Coot	
(Month, Day, Year)	Subject (By Event)	information	Cost	
December 18, 2023	Name of Event	CAPABLE Announcement		
	Location of Event	Dartmouth		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	26 km	\$ 15	5.00
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$ 15	5.00



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Outlied (Du France)	lu 6 - mu - 4l - m		
(Month, Day, Year)	Subject (By Event)	Information	Cos	st
January 10, 2024	Name of Event	Bilateral Announcement		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	30 km	\$	17.31
	Parking Rate	\$3/hour	\$	6.00
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	2.00
		TOTAL PER EVENT	\$	25.31



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
February 12, 2024	Name of Event	Jays Care Interprovincial Lottery	
1 ebiuary 12, 2024	Name of Event	Announcement	
	Location of Event	Dartmouth	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	9 km	\$ 5.19
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 5.19



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	• · · · · · • • · · ·		
(Month, Day, Year)	Subject (By Event)	Information	Cost
February 12, 2024	Name of Event	Tour with Ontario Ministers, NS	
1 001 001 1	Traine of Event	Legislature and Shannex Parkland	
	Location of Event	Halifax	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch per diem	\$ 15.00
	Mileage Rate - (\$0.5770)	50 km	\$ 28.85
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Bridge Toll	\$ 4.00
		TOTAL PER EVENT	\$ 47.85



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			_	
(Month, Day, Year)	Subject (By Event)	Information	C	Cost
February 13, 2024	Name of Event	Tour with Ontario Ministers, Windsor Elms		
	Location of Event	Windsor		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)	Lunch per diem	\$	15.00
	Mileage Rate - (\$0.5770)	77 km	\$	44.43
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	59.43



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
February 13, 2024	Name of Event	Tour with Ontario Ministers, Whitehills Long-Term Care	
	Location of Event	Hammonds Plains	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	86 km	\$ 49.63
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Bridge Toll	\$ 2.00
		TOTAL PER EVENT	\$ 51.63



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	Cost
February 16, 2024	Name of Event	Electric Bus Photo Op, the Ragged Lake Transit Centreon behalf of Minister Rushton		
	Location of Event	Bayers Lake		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	42 km	\$	24.23
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$	4.00
		TOTAL PER EVENT	\$	28.23



### **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
(Worth, Day, Tear)	Subject (by Event)		'	CUSL
February 21, 2024	Name of Event	Acadia Nursing School Announcement, Wolfville on behalf of Minister Wong  Event Wolfville  m-To-Return) g All Taxes Location Number of Nights 5.00 per night)		
	Location of Event	Wolfville		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	200 km	\$	115.40
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	115.40



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	Cost	
February 29, 2024	Name of Event	CFB Black History Month Commemorative Event		
	Location of Event	Halifax		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	13 km	\$ 7.5	50
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge Toll	\$ 2.0	00
		TOTAL PER EVENT	\$ 9.	50